Sylabowy diagram
Rozszyfruj według kodu i zapisz powstałe wyrazy zawierające „rz”. Spróbuj uzasadnić ich pisownię, np. 4C+2B = bierze – biorę.
	
	A
	B
	C

	1
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	3
	we
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	le
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	5
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1A+3A+2B = …………………………………………………………………
1C+2B = ……………………………………………………………..

1B+5C+2B =………………………………………………………….

5C+4A+2B =………………………………………………………….

5B+2B =……………………………………………………………….

3C+5A =……………………………………………………………….

2A+2B =……………………………………………………………….

3B+2C =……………………………………………………………….

4B+2B =……………………………………………………………….

4B+2C =……………………………………………………………….
